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~ Therefee ue can solve via phasor analysis
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SeP 3, Nede analysis
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KCL ot supernode:
T, +T2 4 Ix ~4L0 = O
KCot node2: T,+Ip+2Tx =0
KO.at obptaode: Tx —440-I4=0
\nside Supemocle: Vy=\g = 2.2

Elements V=V
II = '%wc - =JWC (V;-Vg_)

Iy = G-V/R ; Ta= Vo/ks
:[’sg J:{:’L ; Tu= (Vs-V0>/Rz
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To= -4 /0

Ta= 2Ix ;| Tu=TI4y-To

KVL locp) -Vy +120 -V, =0
kVL. (occp &t -Vg + Vo, + Vo = O
Elements
" Vi= QI(:S"II)
V2= Ry (T4-T2)
Vo= Rs L4
Vy= - J\l;.C.I‘

Vs = juok (Ta-Ty)
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o= 4 [Ik3:13°

Sreph, convertloack +o e devain

Volt)= 4 cos (10t +./43-/3°)
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The ohove. cireit 15 inthe sterdy state.

Find (U:), when Vs (#)= (00 cos (10+)
Vs, (#)= SO ces (20t -10°)
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- Ldenty Yratthee aredivo siausoidal sources oF
dFeent Qequenc‘:es

> Solve via superpesiion in ime domain
- For each, frequunty use Phasor analysis
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> (@)= 707 cos(iot -45°)
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_lo —fi20

D W,

1 -?Vsq. = -504-(0 = 224 /106 6°
2= Y2 =

(O-(-J.QO IO-U'ZO

D (olé)= 2.2 ces(20t + 106'6")

Final answer
)= i)« G2 (4)
= 1.07ces( (0t -45°) + 2-24 tes(20t+ /0667



Vege (OceslOt,

Find 0(4.
Skpl- leokeal Vg alere,
Ve = (O
vstng Phaser ahalysis, wefard Hat
L= 1 Q-J' 45
= Nz
e Ty isthe comporant f T duete Ve

e D es 071 cos (1ot -45°)
Sle2 - Ls alene (
Ts= 2, adedly Hs 1 N\C.
Confid ot Ta= -2, B Gl6) = -2

Skepd - Add hnie doman
00Ed= C () Calt)s 0Tl ces(10b-45°) =2 A



